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1 HEF A 46 43 89 19.0 70.0
2 =& ¥ 41 41 88 17.0 71.0 BGA-I
3. WiFBE # 48 45 93 21.0 72.0
4 Ry #4248 90 17.0 73.0
5 mA | 49 56 105 29.0 76.0
6 % SEE 42 46 88 12.0 76.0 BGA-1I
7 KRz =BF 55 50 105 28.0 77.0
8 FHMh FEX 49 46 95 18.0 77.0
o RKR =& 42 47 89 12.0 77.0
10 Ik FME 48 46 94 17.0 77.0
" s 57 51 108 28.0 80.0
12 BK # 48 50 98 18.0 80.0
13 R E) 55 50 105 25.0 80.0
14 =% ME 53 54 107 26.0 81.0
15 ZH BXx 49 55 104 23.0 81.0
16 8 HBF 49 50 99 18.0 81.0
17 INGR FRE 53 55 108 27.0 81.0
18 maer HtE 43 53 96 14.0 82.0
19 A Hg@E 53 57 110 27.0 83.0
20 s #2& 49 57 106 23.0 83.0
21 =dm EMR 62 60 122 39.0 83.0
22 #%% %= 62 59 121 37.0 84.0
23 INEE SFE 47 52 99 13.0 86.0
24 P4 1EBA 51 57 108 22.0 86.0
5 INEE EIkF 52 51 103 17.0 86.0
26 LFHE EXF 58 62 120 33.0 87.0
21 S5H 53 52 105 17.0 88.0
28 =5 1#EX 48 56 104 14.0 90.0
29 B &E= 48 53 101 11.0 90.0
30 X8 HEBE b8 57 115 24.0 91.0
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1 HR ##F% 40 | 33| 73 6.0 | 67.0 IBGB 31 BHE R 45 | 48 | 93 | 12.0 | 81.0

2 A 3= 49 | 52 [ 101 | 31.0 | 70.0 32 fall %k 45 | 48 | 93 | 12.0 | 81.0

3 £/ —5h 44 | 45| 89 | 17.0 | 72.0 33 B0 8 49 | 54 | 103 | 21.0 | 82.0

4 Kt E 41 | 42| 8 | 11.0 ] 72.0 34 eE HX 46 | 46 | 92 | 10.0 | 82.0

5 K I 44 | 43 | 87 | 15.0 | 72.0 35 Rl 1EE 48 | 42| 90 6.0 | 84.0

6 Rk #h 37| 39| 1716 40| 72.0 36 MR ESR 46 | 48 | 94 9.0 | 85.0

1 FRIAMR JGE | 41| 43| 84| 10.0 | 74.0 37 RE KE 47 | 57 | 104 | 17.0 | 87.0

8 EIR R 48 | 47| 95| 21.0 | 74.0 38 B F— 54 | 55 | 109 | 22.0 | 87.0

9 RAR Bk | 45| 48| 93| 19.0 | 74.0 39 IR ZER 50 | 50 | 100 | 12.0 | 88.0

10 KB Sk 43 | 40 | 83 8.0 75.0 40 fH EE 52 | 61 | 113 | 24.0 | 89.0

" ARER #2E7 51 | 50 | 101 | 26.0 | 75.0 41 BA BE 53 | 60 | 113 | 23.0 | 90.0

12 1% = 44 | 49 | 93 | 18.0 | 75.0 42 g s 53 | 51 | 104 | 14.0 | 90.0

13 x5 EH 42 | 45| 87 | 12.0 | 75.0 43 imil #F 51 | 51 102 | 11.0 | 91.0

14 WT R 42 | 48 | 90 | 14.0 | 76.0 44 g pESR 53 | 60 | 113 | 15.0 | 98.0

15 R Fl— 41 | 49 | 90 | 14.0 ] 76.0 45 Mg ER 62 | 70 | 132 | 33.0 | 99.0

16 | /8 #—B3 | 41| 51| 92| 16.0 | 76.0

17 aY KX 43 | 43| 8 | 10.0 | 76.0

18 | KHJI #— | 51| 46 | 97| 21.0 | 76.0

19 2R EA 45 | 44 | 89 | 13.0 | 76.0

20 wEg &= 46 | 45| 91 | 14.0 | 77.0

21 mE Ei& 47 | 45| 92 | 15.0 | 77.0

22 o #E 49 | 47| 96 | 19.0 | 77.0

23 RE ®EH 50 | 44 | 94 | 17.0 | 77.0

24 HE == 44 | 50 | 94 | 16.0 | 78.0

25 #HE  FEA 47 | 45| 92 | 14.0 | 78.0

26 Xx®H &L 45 | 50 | 95 | 17.0 | 78.0

217 e BE 47 | 46 | 93 | 140 ] 79.0

28 wma = 50 | 54 | 104 | 25.0 | 79.0

29 Rl =] 50 | 54 | 104 | 24.0 | 80.0

30 e IREA 58 | 50 | 108 | 27.0 | 81.0
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